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SKYC-U-COMA

COMMERCE AND ACCOUNTANCY (PAPER-I)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5§ are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.

Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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@us—A / SECTION—A

1. frefafas st 8 F yels &1 SW e 150 wss) & AR
Answer the following questions in about 150 words each : 10x5=50

() FAET ERT AR A A9E G (FFNF) [ T aeqd 27 IR A amm @i F wro o Gl
%1 v fifsrg)

What is meant by buyback of shares by companies? Explain the reasons and
sources of buyback of shares.

(b) “‘ma & I i ufgw § A iR e A it yEfE B s @ 217 feogof
Hifs |

“Cost Accounting is becoming more and more relevant in the emerging
economic scenario in India.” Comment.

() TH IR-AWHER W1 F Wl H1 AGI-THE A GHE T d@1-F08F g1 fEr 6t 91 el
Y@ |l 19U HIfg |

Explain the major points to be considered by an auditor while auditing the
accounts of a non-profit organization.

(d) FEGH AHF-12 (To THo-12) F IIFAR WHA IFIEMI o orE@iehd qaer H 4R & =qre
#ifsg)

Briefly explain the accounting treatment of Government Grants as per AS-12.

(e) “TF FWRE T FaA AT AW W H A & fog Iwerh R afew uh il 39 o9 o F
for ft sig e 1" T Hifviy

“An assessee is not only liable in respect of his own incomes for tax purposes
but his liability may extend to some other incomes also.” Explain.

2. (a) ABfafies #1 31 7, 2022 F goa-1 fF=fafea @

¢
1. 3f@Fh o e
1. Surs f[Afy .
(@) W ‘t&ﬁ -
16000 §¥a1 319 @ € 100 % 0 wed 16,00,000
(b) RfEfaf w@ it (+) 21,40,000
2. yEfdd S :
8% U 28,00,000
Fia == 1,40,000
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3. e I ¢
fafay R 9,00,000
SAIH qTRIe 20,000
Fd  33,20,000
1. gfeeafoat
1. yafera simeafmt
fd, waq qu 99 28,00,000
2. e giEwfEr
wi% 2,00,000
fafay T_R 80,000
frawm 30,000
% | TR 2,06,000
Y § TRl 4,000

FA  33,20,000

Trft aRewfEl i w9 @ Aftmfcra ) T e A 9IS 9t 9 R | Qe % g
@R & :

(i) TEF AW H T 10 00 W P ved guan 1w § ufawrira frn smg

(i) TR IUfASA F UTEN, TAF ANUR A giar 1 90% FEA N wHidad wm, qifH
ITH! A YR qYT SRR B T R S g, Riew oews ® w3 | W
feg s

(iii) ¥ GWia 3T # ¥ 100000 FHar 379, & 10 Ufd, N Fo9H uRH & oY 8% AftmE
3w, € 10 wfa i wew, § seat faan s

(iv) FO9A YR H1 F IE1 H € 10,00,000 F 1 @) W 100000 femE 37w,
& 10 wfa i wew, % feima g wge e smom

(v) Tafe" AR F 2@ A 80% | T STEW qu Y H TG 7w ¥ €10 wfa F o
TEW AT 379 S ek Fge TR smom

(vi) @wfda 3w, st frifia =& g &, frea = feg s

T& wHa g T @it geEdl qun 2w g A B wiga R, s s
wfafeal a1Ee o A AR R % 918 B FEGHI B geH-UF AR IR
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The Balance Sheet of AB Ltd. as on March 31, 2022 is as under :

. 4
I. Equity and Liabilities
1. Shareholders’ Funds :
(a) Share Capital :
16000 Equity Shares of ¥ 100 each fully paid 16,00,000
(b) Reserves and Surplus (-) 21,40,000
2. Non-Current Liabilities :
8% Debentures 28,00,000
Accrued Interest 1,40,000
3. Current Liabilities :
Sundry Creditors 9,00,000
Income Tax Liability 20,000
Total 33,20,000
II. Assets
1. Non-Current Assets :
Land, Building and Machinery 28,00,000
2. Current Assets :
Stock 2,00,000
Sundry Debtors 80,000
Investments 30,000
Cash at Bank 2,06,000
Cash in Hand 4,000
Total 33,20,000

The fixed assets are heavily overvalued. A scheme of reorganization was
prepared and passed. The salient points of the scheme are the following :

() Each share shall be sub-divided into ten fully paid Equity Shares of

¥ 10 each

(i) After such sub-division, each shareholder shall surrender to the company
90% of his holding, for the purpose of re-issue to debenture holders and
creditors so far as required and otherwise for cancellation

(iii) Of those surrendered, 100000 Equity Shares of ¥ 10 each shall be
converted into 8% Preference Shares of ¥ 10 each fully paid for debenture

holders
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(b)

()

(iv) The debenture holders’ total claim shall be reduced to ¥ 10,00,000. This
will be satisfied by the issue of 100000 Preference Shares of ¥ 10 each
fully paid

(v) The claim of sundry creditors shall be reduced by 80% and the balance
shall be satisfied by allotting them Equity Shares of ¥ 10 each fully paid
from the shares surrendered

(vi) Shares surrendered and not re-issued shall be cancelled

Assuming that the scheme is duly approved by all parties interested and by the
Court, draft necessary Journal Entries and Balance Sheet of the company after
the scheme has been carried into effect.

w T T Pt F T I F IR FA R Ao o @ & SRR € 150 fa e
¥ R ¥ fm) 3R A wi v ad 10000 FEEE W ARG #) TR F g D e
w1 fweg 2 (WA—A @ wR—B), Al @ W% wF f I e wfa wd
10000 3wt & Tefi—A 9 TRl @ra 3fa @€ € 4,00,000 Bt 3R 10000 FFEET H
s w iy o € 5,00,000 F @ B TAF—B A TR @ gfi ad €2,80,000 B
3R 10000 T1Ea! Hi ol W wfy 3§ € 3,20,000 1 TN BT | IREHE AT AT AR H
for YRes w9 ¥ TR FA B

fh ) Fm T W AT Wil ) S 3erEE B, SEeht o iR

A newly setup manufacturing company is planning to produce a product that
will be sold for 150 per unit. The demand of the product is estimated at
10000 units per year. The company has the choice of two machines
(i.e., Machines—A and B), each of which has a capacity of producing
10000 units per year. Machine—A would have fixed costs of ¥ 4,00,000 per
year and would yield a profit of ¥5,00,000 per year on sale of 10000 units.
Machine—B would have fixed costs of ¥2,80,000 per year and would yield
profit of ¥3,20,000 per year on sale of 10000 units. Variable costs behave
linearly for both machines.

Calculate the volume of sales at which the costs of two machines will be
indifferent.

W TER AR, 1961 % Eer fawda fRify & = yrfma 27 e % e o
=fn i Prardta R frg R Ruifa /s R, e @ ==t fifvw)

What is the relevance of residential status as per the Indian Income-tax Act,
19617 Discuss in detail how the residential status of an individual is
determined for income tax purposes.

20

15

15
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3. (o) TwfeRed g=m & Nur R, yfFn @R R Hifw qar X fafe gr ede 2022 # 9w T

rfas @l Y T Hifve
faeror sl fAfia 3carg
A B s

IR @i (T #) 8,000 9,600 6,400 24,000
ya& |t (€ #) 16,000 | 16,800 | 24,000
I 7egl (T H) 12,000 | 12,000 | 12,800
IRy (T ®) 11,200 4,800 32,000
rfm =i (T 1) 4,000 4,800 3,200 12,000
AT 19 (%) 33% 25 25
RS =i % fog

IR-gisean @y (T H) _ 1,600 1,600 8,800

isha1 & dRF W H1 TIE ARG R Gedifehd 61 I § 91 AR IR B IHFI—C A T

Tl R geAifeha T stman #1 3@ ovafy 3 v fash € 2,80,000 i)

From the following information, prepare Process A/cs and calculate the actual

profits earned by X Ltd. for the month of April 2022 :

Particulars o, Fipithed
A B C Stock

Opening Stock (in @) 8,000 9,600 6,400 24,000
Direct Material (in @) 16,000 16,800 24,000
Direct Wages (in @) 12,000 12,000 12,800
Overheads (in ©) 11,200 4,800 32,000
Closing Stock (in &) 4,000 4,800 3,200 12,000
Profit on Cost (%) 331 25 25
Inter-process Profit for
Opening Stock (in ¥) — 1,600 1,600 8,800

Stocks in process are valued at prime cost and finished stock has been valued
at price at which it received from Process—C. Sales during the period were
¥ 2,80,000. 20

SKYC-U-COMA/6 6



(b) o A, == Fameht, A gl F1 Tt 2, Re faron Frafafad @

Teh—I TehTH—II
e forran (fertmn Fre=

fufm F =wia) (T H) 38,000 36,000
TRuIH geiwA (T ) 40,000 45,000
3fea T (T H) 50,000 60,000
redfaes fRmn (T °) e 45,000
Ta o # e R T TR W (€ H) 6,000 7,250
Aty < fiftem (€ #) 500 4,500
art gfaen R (37 foeg 31em) (T H) 600 750
M & Fmio ¥g IH R | =W (T ) 22,500 5,750
a3 =1 TRt (37 foeeg o1em) (T H) 750 750
gt 1 3T @i ¥ fameg famw F g

TR w

filo A ® w-Rufwr 9§ 2022-23 H FEW I@ K WA Fivw) THFR—I F FE
Ht 2022 F 3o, s FHE—I 1 FEin 2012 # gan) T@ oRfER % gRom B TR
SAfufrm % TEuFl % STFER Y IT=G o Smem?

Mr. A, resident of Chennai, owns two houses, the particulars of which are as

under :

House—I House—II
Standard Rent (under the Rent
Control Act) (in ¥) 38,000 36,000
Municipal Valuation (in @) 40,000 45,000
Fair Rent (in ¥) 50,000 60,000
De facto Rent (in ) - 45,000
Municipal Taxes paid during
previous year (in ¥) 6,000 7,250
Fire Insurance Premium (in ¥) 500 4,500
Water Benefit Tax (due but
outstanding) (in ) 600 750
Interest on Loan taken to
construct the house (in ©) 22,500 5,750
Rent of Lease (due but
outstanding) (in ¥) 750 750
Use of Assets Self-occupied Rented for

Residence

Compute the Taxable Income of Mr. A for the Assessment Year, 2022-23.
House—I is constructed in February 2022, whereas House—II in 2012. How
will the outcome of this situation be treated as per the provisions of the
Income-tax Act? 15
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(c)

4. (a)

“rar-alem SfEE ®9 R sigEeuE (FREREE) TE ) i g # St wiR e
R Wi it =men i)

“An audit is not essentially an investigation.” Why? Explain the general
procedure followed in an investigation.

Afafiee 3 € 10 7&%F ¥ 160000 R ¥ fog & 2-50 vy R A fiftem w, Framgar 37,
e IwfAa forg

3aE & E— 3 9fd AW

e & §HI—F 4-50 9fa IR (SHfem & am)
Tgelt AT m—T 2 iy W

Tt rfm wit ®—¢ 3 wfd =R

340000 ¥} % forg smae ww ge, fal & 20000 0 ¥ forg emded @i R Ry 7 @ik
3% o7 A R e ) A9 et B g e R | e WoyaE R
T e TR F I 7 e U wf wEERE e wm

Fiha, e 4000 I afea fobg Mg 9, aeea R F e T W g ok I9F AR
TRl R H PTAE T A W 306 W B ea W foran @)

T, St 7% 2400 A F awE o1, A A F PR T F favet @ ik wfRm win ¥ aw
g A B SFsa o

e Y T A # @ 4800 TR A €8 Wl AWM A R A f wew i W R wn, Rt
Fiya & wft s=a IR Wit §)

Y ATEVIH Sl (Tl w81) wfafdal €

A Limited invited applications for 160000 shares of ¥ 10 each at a premium of
¥ 2:50 per share payable as follows :

On Application—® 3 per share

On Allotment—% 4-50 per share (including premium)
On 1st Call—¥ 2 per share

On 2nd and Final Call—¥ 3 per share

Applications were received for 340000 shares, out of which applications for
20000 shares were rejected and money refunded to them. The allotment was
made pro rata to the remaining applicants. Money overpaid on application was
used against allotment money due.

Kapil to whom 4000 shares were allotted failed to pay the allotment money and
on his subsequent failure to pay the first call, his shares were forfeited.

Ramu, the holder of 2400 shares, failed to pay the two calls and his shares
were forfeited after the final call.

Of the forfeited shares, 4800 shares were re-issued at the rate of ¥ 8 per share
credited as fully paid, including the whole of Kapil’s forfeited shares.

You are required to give the necessary Journal Entries.

SKYC-U-COMA/6 8
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(b) aA TN ¥ F w9 A fum i smuron & o Fifg) e F e geae i g@m
$ « faft @ R s Ry f gan fifv)

Discuss the concept of a division as an independent profit centre. Compare the
Rate of Return Method with the Residual Income Method of performance
evaluation of a division. 15
(c) T R sfufam, 1961 ¥ Iigar fmfaRea i =men Hif
() I=gA
(i) VIR *F THE FTH % qTA TH YA

Explain the following as per the Indian Income-tax Act, 1961 :
(i) Gratuity

(i) Leave encashment at the time of retirement 9+6=15

@Uvs—B / SECTION—B

5. frfifed vl # A 7o &1 IW @I 150 TR § AT
Answer the following questions in about 150 words each : ' 10x5=50

(@ %o do 3o Ao-Fo do THo Frvermw F Tl F ‘Forefrr el forg’ 1 Iugh IaTE A
we Fifg)

Explain the ‘Financial Indifference Point’ in the context of EBIT-EPS analysis
by giving suitable example.

(b) i w= A T AR 7§ HE % g Pafe == B

What is meant by capital structure? Discuss the major determinants of capital
structure.

(c) v ford o i e fift % et i =ren fifw)
Explain the objectives of monetary policy of the RBI.

(d) oh IR o &7 e 3w & onfdie faem & et s A sfftven i ==l i)

What is capital market? Discuss the role of capital market in the economic
development of a country.

(e) Taemm (woR) 71 27 faea & faftm waerd &1 avia Hifd)

What is merger? Explain various types of merger.
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6.

(@ T3 TafRe o sm-wum Fmfon glaen it sgam wwd 1 F Tt gomed e $@ %

(b)

e weh s 1 e AR @ R 98 SgHH T T @ TR womeft % aRomeeeg wegh §
¥ 13,50,000; wHasht @ § € 4,50,000; I9EA % IRA Gl 'R € 1,50,000; 390
o # € 1,20,000 3R 3 wREeH @rdl § € 90,000 i afies s 2t

wefifm yoreh <t v € 22,50,000 B gEEAT @ R g9 faw € 1,50,000 it T
AN Y IRl B | ST ST Sfieq 5 9 STgAia ' 1 JUIelt @ H@eifed A % fag
FA H Q) AR TR it Fane ft oravEwar aft AW uRw w1 aifte ad
¥ 4,50,000 BN\ 3EH 1 TG IR TEr@E i @ € 1,20,000 Bt i R
R 30% T FaEH Jfawad R 12% TG §C T foafee #: gama dfvm f 38 whaem =
PR T AL AT & |

TF YA F T 12% @ 5 99 & fog dio e The 3:605 R

Moon Ltd. wants to replace its labour-intensive manufacturing facility. The
company is evaluating a project to install a machining system. It is estimated
that the system will result in annual savings of ¥ 13,50,000 in wages,
¥4,50,000 in supervisory cost, ¥1,50,000 in material losses during
production, ¥ 1,20,000 in inventory cost and ¥ 90,000 in other operating costs.

The machining system is likely to cost ¥22,50,000 and will require an
installation cost of ¥ 1,50,000. Its useful life is estimated at 5 years. To operate
the system, the company requires the services of two trained operators at an
annual salary of ¥ 4,50,000 each. Its annual repairs and maintenance cost is
likely to be ¥ 1,20,000. Assuming that the corporate tax rate is 30% and the
required rate of return is 12%, suggest Moon Ltd. whether it should accept the
project or not.

The PVF of an annuity @ 12% for S years is 3:605.

Frafafaa ST 92 T ® TS gau feh § @ X fafies % feid @ ferch T ') s
i 2022-23 & fou ot wrRidE §Sit A EEEaS F @EgAE T 1 T a8 A/
52 HNTE € :

FgTa afies fosil—e 87,81,500

Tosht <t T | Y& @™ i IRaea—30%

TR I & S arelt HEa aRe—14 FHTE
TAERI BRI @ S arelt 3fed qrE—7 WeTE

(ForsfY sTrarveanait % awaf #) aftaa Wer—12 wuE

o T g SteRe § sfRERaett % fa 15% e &

SKYC-U-COMA/6 10
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The following information has been extracted from the records of X Ltd.
engaged in large-scale customer retailing. You are required to forecast its
working capital requirements for the year 2022-23. One year constitutes
52 weeks :

Projected annual sales—% 87,81,500

Percentage of net profit on cost of sales—30%

Average credit allowed to debtors—14 weeks

Average credit allowed by creditors—7 weeks

Average inventory carrying (in terms of sales requirements)—12 weeks

Add 15% of the computed figures to allow for contingencies 15
(c) wewrh it (mgere we) @ ¥ wra # yefea wearh fft & wrl w == i)
What is a mutual fund? Discuss the types of mutual fund prevalent in India. 15

7. (a) 319H, 2022 F FrafaReq qoa-m e mn g -

fararor afir
4
1. 3@t ¢q el
1. rryws A .
Ha1 39 gSht 5,00,000
10% AfemE IR it 1,00,000
rfafeat wa arfiem 92,000
2. Iyfea < :
12% o9 4,00,000
3. =g IR ¢
fafay R 1,00,000
ECRCRE] 40,000
IR & T yaum 1,00,000
EX 13,32,000
II. wRamfaat
1. 3y=fda siEfEr
ot yfemf
(@) W wfcarafEy :
G99 g Hefia 2,80,000
i T WA 2,00,000
HieR T i 1,56,000
6,36,000
2T : YeAg™ o foIg yrag™ 1,48,000
4,88,000
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¢
(b) 31"{5‘7 gt
@t (efaa) 80,000
faw 3,00,000
2. T aiewff
EIGRLGE IR 4,40,000
dea TR 4,000
AT TR =" 20,000
Fd 13,32,000
e mu gem-wm @ F=faRaa i o i
(i) FOT-WHAT AFIA
(ij) i I

(iii) IR AT AT
(iv) Trf il o @i SEt @ e
(v) o iR (Frafer) sigam

The following Balance Sheet is given as on 31st March, 2022 :

Particulars Amount
%

1. Equity and Liabilities
1. Shareholders’ Funds :

Equity Share Capital 5,00,000
10% Preference Share Capital 1,00,000
Reserves and Surplus 92,000
2. Non-Current Liabilities :
12% Debentures 4,00,000
3. Current Liabilities :
Sundry Creditors 1,00,000
Bills Payable 40,000
Provision for Income Tax 1,00,000
Total 13,32,000
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Particulars Amount

L ¢
II. Assets
1. Non-Current Assets :
Fixed Assets :
(a) Tangible Assets :
Plant & Machinery 2,80,000
Land & Building 2,00,000
Furniture & Fittings 1,56,000
6,36,000
Less : Provision for Depreciation 1,48,000
4,88,000
(b) Intangible Assets :
Goodwill 80,000
Investments 3,00,000
2. Current Assets :
Current Assets 4,40,000
Prepaid Rent 4,000
Unamortized Preliminary Expenses 20,000

Total 13,32,000

From the given Balance Sheet, calculate the following :
(i) Debt-equity Ratio

(i) Proprietary Ratio

(i) Solvency Ratio

(iv) Fixed Capital Ratio from Proprietary Capital

(v) Capital Gearing Ratio 20

(b) TR % fQ Fw yare faaww w1 F=0 v B7 77 Jvve AR fEw @ vy weR fe 27

What is the importance of Funds Flow Statement to the management? How is it
different from a Cash Flow Statement? 15

(c) wr@ fufor (fee o) w7 6% Rw, w6 aw dmeit i s Bk

What is credit rating? Discuss its objectives, functions and limitations. 15

SKYC-U-COMA/6 13 [P.T.O.



8. (a)

X fafiee it adum aiffs foht & 24 wfa 398 ¥ & 60 @ra ®1 wRada @va € 16 Wit 79
R R e A €5 @@ wfd 99 R | 36 adam o mER A Hiee sty | Q) a1 di R
@, S ft TR B, Tg 1 TEE B W R & forg Fefafaa sgam e e §

ez Hfa 178 | 278 | 3#ER
fosht # 3 (%) — 8 30
forsht & g=a w0 1 wfwra 1 2 6

TAAH TR A 25% ¥ it A fahi § gfg F a weh @@ § €1,00,000 R arfis
gfg grft|

Forfl 1 fafed Siflaw & ® F fog #9-8-99 20 vfem W @ @, 9w w sfwa H
SATavIEHa grft |

35y gRfeufaa # X fafiee & fog wed et Sfee Hifa = avfie

X Limited has its present annual sales amounting to ¥ 60 lakhs at ¥ 24 per
unit. Variable costs are ¥ 16 per unit and fixed costs amount to ¥ 5 lakhs per
annum. Its present credit period of one month is proposed to be extended to
either two or three months whichever appears to be more profitable. The
following estimates are made for the purpose :

Credit Policy 1 month 2 months 3 months
Increase in sales (%) — 8 30
Percent of bad debt to sales 1 2 6

Fixed costs will increase by ¥ 1,00,000 annually after an increase in sales

above 25% over the present level.

The company requires a pre-tax return on investment of at least 20% for the

level of risk involved.

What will be the most rewarding credit policy in case of X Limited under the

above circumstances?

(b) o FHfAE F AR faaor = e g

A foifds B forfige C fafies
r=15% r=10% r=8%
k =10% k =10% k=10%
E=%10 E=¢10 E=%10

Fieet AiSA 1 FAM FA §L ATH! A1 FHAfE1 7 § T F GHa1 /R F qed H T0E FE @

& A PTAE A (i) 20%, (i) 50% @ (i) 0% B

SKYC-U-COMA/6
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Details regarding three companies are given below :

A Limited B Limited C Limited
r=15% r=10% r=8%

k =10% k =10% k=10%
E=%10 E=¥10 E=%¥10

Using Walter’s model, you are required to calculate the value of an Equity
Share of each of these companies when dividend payout ratio is (i) 20%, (ii) 50%

and (iii) 0%.

15

() o™ Pt (IR Ffieat) #:0 27 rfeyaren & fawm & fog 3em €& % +rt #1 aviv Fifvw)
Jem Osft formmarm & faftm = W of ==t Aif)

What is venture capital? Explain the functions of venture capital for the
development of economy. Also discuss the various stages of venture capital

financing.
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